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PART 1 – LISTENING
TASK 1. Listen to the opening of a radio programme about fashion and social responsibility. Which newspaper stories does the radio show refer to? Choose three letters A – F and write them in boxes on your answer sheet.
A. Holding signs reading ‘Burberry: Fur Shame’ and chanting ‘Fur is dead’, three animal-rights activists took to the catwalk during the Burberry show at Milan Fashion Week.
B. As many fashion houses do, Donna Karan International asserts that it should not be held responsible for wage and hour activity committed by factories with which it contracts.
C. The recent rise in such eco-sustainability indicates that people want change the market shifted to accommodate neo-environmentalists’ growing interest in green products and their need for variety and consciousness.
D. The fashion industry’s obsession with size zero could be driving an even bigger increase in eating disorders among models than previously thought.
E. Growing demand for cheap clothes is putting an increasing social and environmental strain on the world, a report has said. It questions the convenience of the ‘fast fashion’ that is growing in popularity.

F. After the emergence 30 years back of black faces on catwalks, fashion in the first decade of the 21st century has turned relentlessly white. 

ANSWER SHEET

	
	
	


TASK 2. Who do you think makes these points: Sarah or Diana? Write the correct name Sarah or Diana in boxes 1 – 4 on your answer sheet.

1. Monitoring conditions in suppliers’ factories is not straightforward.
2. Fashion companies aim to increase profits.

3. Thin models have a negative influence on women’s self-perception.

4. Designers are artists who want to show their work in the best way possible. 
ANSWER SHEET

	1
	2
	3
	4
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PART 2 – VOCABULARY
TASK 1. Match the beginnings with the endings in the proverbs below. Write the correct letter A – F in boxes 1 – 6 on your answer sheet.
1. Charity


A. is thicker than water 



2. The end


B. talks
3. Money


C. begins at home 
4. Beauty


D. justifies the means
5. Lightning


E. never strikes twice
6. Blood


F. is only skin-deep
ANSWER SHEET
	1
	2
	3
	4
	5
	6

	
	
	
	
	
	


TASK 2. Fill in the gaps with appropriate prepositions from the box. Some of them can be used more than once. Put what you’ve written into the answer sheet below.

	DOWN                 INTO                 IN                 OFF                 UP                 AT                 ON


1. Jack almost talked Anna ____ visiting his parents, but in the last moment she refused.

2. I was aching all over when I realized that I must be going ____ with flu.

3. I bumped ____ Sue last week.

4. It’s impolite! You’ve just butted ___ on our conversation in a very ride way.

5. Me head is splitting. Let’s call ____ the meeting.

6. My brother is brilliant at picking ___ languages. He already knows several.

7. I was hoping to shake flu ____ with antibiotics, but they didn’t help.

8. I got really stuck ___ algebra, and now I’m feeling much confident about it.

9. He was taken ___ by her charm and completely lost his head.

10. Do not go ____ at me like that, I’ve done nothing serious.

ANSWER SHEET

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


TASK 3. For every set of 3 contexts find out one word that will suit each sentence in a set. Write a correct word in boxes 1 – 5 on your answer sheet.
E.g. Under British RULE, for a time, economy flourished.

       As a RULE, I finish work at 5.30.

       I can’t see the point of this RULE, which says we can’t cycle to school.

1. The car skidded on ice and ________ crashed into a tree at the side of the road.


The ball _________ the glass in the window into the thousand pieces.


The managing director __________ his fist down on the table in anger at the committee’s decision.

2. The republic ________ war on its neighbours on 25 June.


The accused ________ that he was innocent of the murder.


Have you ________ all your earnings from the previous financial year.

3. It’s the _________ of a pilot to look after welfare of his passengers.


We could go to the cinema this afternoon – I don’t go on until seven o’clock.


You do realize that you have to pay ________ on goods imported from abroad, you know?
4. Rescuers ________ six bodies from the wreckage of the ship.


The police ________ all the property stolen in the robbery.


Maria ________ from her illness in record time.

5. A British trade ________ left this morning for China.


The new manager told the staff that that his ________ was to improve the company’s image.


The police mounted a rescue _________ to find the climbers lost in the Cairngorms.

ANSWER SHEET

	1
	2
	3
	4
	5

	
	
	
	
	


TASK 4. Fill the gaps with an appropriate form of the word given in capitals. Write a correct word in boxes 1 – 10 on your answer sheet.
GETTING AHEAD IN BUSINESS

Your chances of success can 0 greatly increase if you follow                               GREAT

a few simple rules in your working life. First of all, remember 

that your 1________ wants you to do well – that’s what you are being                 EMPLOY

paid for. Many companies choose 2________ young people to work                    AMBITION

for them and provide a lot of 3 __________ to their workers.                               ENCOURAGE

Working for a large, international company may provide job 4 _______.            SECURE

On the other hand, a smaller company might give you a chance to use your

5_________ more. Secondly, remember that any experience you gain                 IMAGINE

will always 6________ your position in the company. The company wants         STRONG

7________ that you want to get to the top. Take any opportunity you get            PROVE

to go on 8________ courses related to your work. The more                                TRAIN

9_______ you are, the better chances you have of being promoted.                     QUALIFY

Finally, don’t give up, even when you are 10________. Stick with                      SUCCESS

it and you will get there in the end.

ANSWER SHEET
	1. 
	

	2. 
	

	3. 
	

	4. 
	

	5. 
	

	6. 
	

	7. 
	

	8. 
	

	9. 
	

	10. 
	


TASK 5. Linguacultural task: choose the best option. Write the correct letter A, B or C in boxes 1 – 5 on your answer sheet.
1. Which of the following English words has a Latin root?

A. Safe

B. Mutton

C. Street
2. Which of the cities and towns below isn’t situated in Great Britain?

A. Dover

B. Wicklow

C. Leeds

3. Who of the following writers is not British?

A. G. Byron
B. H.G. Wells
C. E. Dickinson

4. Which of the following traditions is not British?

A. Mardi Gras
B. Maypole
C. Cheese rolling
5. Who won a Literature Nobel Prize in 2017?

A. K. Ishiguro
B. I. McEwan
C. T. Morrison

ANSWER SHEET

	1
	2
	3
	4
	5
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PART 3 – GRAMMAR
TASK 1. Complete the text with the appropriate form of the verbs in brackets as shown in the example. Write a correct word in boxes 1 – 11 on your answer sheet.
A 32-year-old man 0 (get)  got  home from work on Friday to find that someone 1 (steal) _______ the shed from his back garden. Martin Graham, who 2 (live) ________ in Francis Road, Darnley, 3 (tell) ________ us he couldn’t believe his eyes. “There was simply nothing there. I thought I 4 (go) ________ into the wrong garden.” A neighbour who 5 (notice) ________ the men while they 6 (disassemble) ________ the shed, 7 (assume) ________ that Mr Graham 8 (ask) ________ them to do it. The two men 9 (drive off) ________ in a white van. At the moment the police 10 (investigate) ________ and by now 11 (issue) ________ description of the two men.
ANSWER SHEET 

	1. 
	

	2. 
	

	3. 
	

	4. 
	

	5. 
	

	6. 
	

	7. 
	

	8. 
	

	9. 
	

	10. 
	

	11. 
	


TASK 2. In your answer sheet write a new sentence with the same meaning containing the word in capitals. Write a correct word in boxes 1 – 10 on your answer sheet.
	1. There’s too little time to finish now.
	NOT

	2. All of my answers were right.
	WRONG

	3. There isn’t any money in your wallet.
	IS

	4. There weren’t many customers this morning.
	VERY

	5. There were more crimes this year.
	LAST

	6. The red one costs €50 and the green one costs €100.
	MUCH

	7. Hundreds of people were queuing at the front entrance.
	LARGE

	8. There is plenty of food for six people.
	MORE

	9. The cupboard hasn’t got any paper in it.
	THERE

	10. There wasn’t any much show last night
	ANY


ANSWER SHEET
	1. 
	

	2. 
	

	3. 
	

	4. 
	

	5. 
	

	6. 
	

	7. 
	

	8. 
	

	9. 
	

	10. 
	


TASK 3. Match a phrase from A with a phrase in B. Write a correct letter a – j in boxes 1 – 10 on your answer sheet.
	A
	B

	1. Lydia was accused…
	a. against him.

	2. I warned them…
	b. to a very unpleasant experience.

	3. Patty congratulated me…
	c. at them.

	4. We’ll have to deal…
	d. in the project.

	5. Don’t force me…
	e. on the promotion.

	6. I don’t want to be involved…
	f. for a service

	7. I don’t hold anything…
	g. about the danger.

	8. Mother never shouts…
	h. of lying.

	9. You subject us…
	i. with this situation.

	10. I should charge them…
	j. into doing it.


ANSWER SHEET

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
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PART 4 – READING
Read the following text and be ready to do some exercises below.

FACT SHEET ON METEORITES
Western Australian Museum
A

Meteorites are travellers through time and space that plunge to Earth, sometimes trailing a brilliant light and with a noise like thunder, at the end of a journey that began in the farthest reaches of the solar system as long ago as 45,000 million years.


They are solid bodies of crystalline matter thought to have originated deep inside planet-like bodies that were later fragmented. Unlike Earth rocks, the oldest of which date back about 3,800 million years, they have been isolated in deep space since the birth of the solar system.


While in space, they are known as meteors. Though their origins cannot be known for sure, there are indications that they are associated with comets, and that they originate from the asteroid belt between Mars and Jupiter. There they remain orbiting the Sun, but any that stray too close to Earth find themselves caught in its gravitational pull and begin to plummet towards its surface. Tearing through the atmosphere they are heated and their surfaces melted by friction. Between 1 00 and 159 kilometres above Earth they become incandescent and the larger ones are visible as bright lights trailing luminous tails. Some explode with a brilliant flash and a roar like thunder.


Most meteo.rs burn up completely on entering the atmosphere, but some survive the journey and land on Earth's surface. They then become known as meteorites.


Meteorites vary in size. Some are the size of small pebbles, others weigh many tonnes. Scientifically, they are extremely valuable. Studying their chemical and mineralogical composition helps us to interpret the origins and nature of the solar system, as well as of Earth itself.

B

The study of meteorites is a comparatively young science, but meteorites. have been known to man since the· earliest days of prehistory.

Meteorite falls were described by writers of the Han Dynasty in China and by the philosophers of ancient Greece. In Mecca, Moslems pay homage to the sacred stone of Kaaba, which is apparently a meteorite. American· Indians are also known to have paid homage to meteorites and members of two tribes made yearly pilgrimages to a hill in southern Alberta where the Iron Creek meteorite lay.

During the Iron Age, many meteorites were destroyed to make implements and weapons - among some peoples, these weapons were believed to confer supernatural powers on the bearer.
In the Middle Ages meteorites were regarded with awe as signs of God's wrath, so they were rarely preserved. It was· not until the early 19th century that scientists became convinced that they were perfectly natural bodies; the scientific study of them is only about 150 years old.
C

There are three main types of meteorite - irons, stones and stony-irons.

Irons are mainly composed of nickel-iron alloy and have a characteristically dense and metallic appearance. They originate from the 'core' of their parent body and because of their metallic nature are more resistant to atmospheric friction than other meteorites. The largest meteorites are usually irons. The first meteorites found in Western Australia were irons discovered by a policeman named Alfred Eaton towards the end of the 19th century.

Stones consist largely of magnesium-rich silicate minerals, with varying amounts of nickel-iron. There are two main classes of stony meteorites - those that contain substances called chondrules, and those that do not. The chemical composition of the first group - known as chondrites - is very similar to that of the Sun.

Stony-irons contain about equal amounts of metallic nickel-iron alloy and silicate material.

They are less common than the other two types of meteorite. The stony portion generally occurs as fragments welded by metal. They are probably the result of a high-speed collision in space between a body of iron and one of stone - the metal would have melted at the time of impact.

D

A meteorite 'fall' is a meteorite recovered after a witnessed fireball. A meteorite 'find' is a meteorite found by chance long after it fell to Earth.

Seeing a meteorite fall can be quite spectacular. For example, residents and visitors in Wiluna, Western Australia, for the Annual Race Meeting festivities on 2 September 1967 saw the night sky lit by a flash 'like a welding arc - white and blue'. One man reported seeing 'an object about 20 feet [six metres] long throwing out balls of fire'. Others reported 'a terrific rumbling noise' and 'six or seven bangs'. These explosive noises were caused by atmospheric shock waves as the meteorite fragmented on its journey to Earth.

E

The surface of a meteorite is quite different from that of most ordinary rocks. This· is a result of entering the atmosphere at high speed and the outer portions of the meteorite being melted or burned off.

Stony meteorites have a glassy, dull black to deep brown fusion crust. This coating is only a few millimetres thick and if part of the surface is broken, the interior looks quite different.

Iron and stony-iron meteorites also have fusion crusts, but they are not quite so obvious.

Most meteorites contain some metallic iron. This can be recognised as silvery areas or grains on broken surfaces. It means that meteorites are usually heavier than ordinary rocks of the same size. Also, they will attract a magnet.

Making a ·positive identification and classifying a meteorite requires expert knowledge and sophisticated equipment.
TASK 1. Choose the most suitable heading for each section from the list below. Write the correct letter A – E in boxes 1 – 5 on your answer sheet. 
1. Meteorites: Falls or Finds
2. Types of meteorites

3. Origins and journeys
4. Early beliefs
5. Appearance and other features 
ANSWER SHEET

	1
	2
	3
	4
	5

	
	
	
	
	


TASK 2. Complete the sentences below using words from the passage. Choose no more than two words from the passage for each answer. Write your answers in boxes 1 – 5 on your answer sheet.
1. Meteorites consist of solid bodies of _____
2. Some American Indian tribes went on _____ to a meteorite in southern Alberta. 

3. The chondrites are very similar to the Sun in their _____

4. The surface of a meteorite gets melted as a result of travelling at _____

5. To identify and classify a meteorite requires specialist knowledge and _____
ANSWER SHEET 

	1. 
	

	2. 
	

	3. 
	

	4. 
	

	5. 
	


TASK 3. Do the following statements agree with the information given. In boxes 1 – 3 on your answer sheet write TRUE if the statement agrees with the information; FALSE if the statement contradicts the information; NOT GIVEN if there is no information on this. 
1. On Earth we can find meteorites but never meteors.
2. A meteorite ‘find’ may also have been a meteorite ‘fall’.

3. Meteorites are like any ordinary Earth rock. 
ANSWER SHEET 

	1. 
	

	2. 
	

	3. 
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PART 4 – SPEAKING

Card 1

	“Education is the most powerful weapon which you can use to change the world”


― Nelson Mandela (1918-2013), South African revolutionary, political leader and philanthropist 




Student 1

Part 1. MONOLOGUE 

You have received a quote about education (you can see it at the top of this paper). What is the idea of the quote? Do you agree? Why or why not? Prepare your monologue answering these questions: provide your opinion with 2-3 arguments. Present your ideas to your partner.

Then listen carefully to the monologue of your partner and prepare a question to him/her concerning the quote itself or your partner’s opinion on its idea. 

Time for preparation: 5 minutes
Time for monologue: 2-3 minutes
Part 2. DIALOGUE

Having heard out the ideas of your partner, ask your partner a question about the quote or the opinion he or she has on the quote. Then answer your partner’s question. Be polite and respectful! 

Time for discussion of both questions: 2-3 minutes.

